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Sorting the elements Swap maximal with bottom right

100 MO E PR L PN R 2 S B R G D D PR G A e =B D e A 2 A e B = PRR R S o T T



Sorting the elements The node is invalid

1 QMO E PR L PN B 2 S B E G DD PR G A e =B D e A 2 A e B = PRR R S o T T



Sorting the elements Swap the elements: 1 O

Qb MO E BE PR LMY R 2 S EE R G DD PG PA e =D e = A D A BB PIRIR R S o T T



Sorting the elements The node is invalid

Qb EM O E B PEL LMY R 2 S EE R G DD PR G A e =D e = A S A BB (PIRIR R S o [ T



Sorting the elements Swap the elements: 1 O

QM 1 E B PEL PL MY R 2 S EE R G DD R G A e =D e = A D A BB PIRIR R S 8 T T



Sorting the elements Swap the elements: 1 O

O i EM 1 E PR PEL PL M R 2 S EE R G DD PR G A e = D e e A S A BB ((PRIR RS e T



Sorting the elements Swap the elements: 1 M

O QM M E P PR LY B2 S E R G DD PR G PA e =D e = A D A BB (P RIR R S o T T



Sorting the elements The node is invalid

Qi M M E PR LY B2 S EE R G DD R G PA e =D e = A D A BB PIRIR R S 8 T T



Sorting the elements Swap the elements: 1 L

O M M E P FEL LR B 2 S EE R G DD G A =D e = A D A BB ((PIRIR R S o T T



Sorting the elements The current node is valid

O QM M E P PEL LR B 2 S EE R G DD PG A =D e = A D A BB (PIRIR R S 8 T T



Sorting the elements Swap maximal with bottom right

=M M E L D Ll R 2 PG PR R G D S A = D Pe = A S A BB D P RR RS ST T



Sorting the elements The node is invalid

= O M M E L D Dl R P2 PG B R G D S A e e D Pe = A S A BB D P RR RS ST



Sorting the elements Swap the elements: - O

Q= MM E PR LR B 2 S EE R G DD G A =D e = A S A e B (D PIRIR R S o T T



Sorting the elements The node is invalid

Q= MM E P PEL LR B 2 S EE R G DD PG A =D e = A D A e B (D PIRIR R S o T T



Sorting the elements Swap the elements: - M

QMM = BB PEL L R B 2 G EE R G DD PG A e = D e = A S A BB (D P RIIR RS e T



Sorting the elements The node is invalid

O M EM b= BB PR L R B 2 G EE R G D P G A e = D e = A D A e B (D P RIIR RS e T



Sorting the elements Swap the elements: - L

O CNMEEME L E B PEL e B R 2 G EE R G DD P G A e = D e e A S A BB (DR RIR RS e T



Sorting the elements Swap the elements: - L

O CNMEEME L B B PR e B R 2 G EE R G DD P G A e = D e e A S A e B (DR RITR RS e T



Sorting the elements Swap the elements: - |

O CNEEME L B R PR R 2 G EE R G D e P G A e = D e = A S A e B (DR RIR RS e T



Sorting the elements The current node is valid

O CNMEEME L B R PEL [ R R 2 G EE R G D PG A e = D e e A S A BB (D P RIR RS e T



Sorting the elements Swap maximal with bottom right

B ML PR R EE R FE S B RN R N R VRN G FDE e B B A e ) B S e e A RS DR e O D PR R R RS e T



Sorting the elements The node is invalid

B N EM PR FE P FEE B R 2 NS R BN G FD e B A e = D D e A D A e O DR RR RS e T



Sorting the elements Swap the elements: B M

M B M L E FE PRI R B2 S E R G D s G A = DTS A D A e QD IPIRIR R S o T T



Sorting the elements The node is invalid

M B ‘M L E P PRI R B2 S E R G D s G A = DTS A D A e QD PIRIR R S o T T



Sorting the elements Swap the elements: B L

ML M B E P PEL IR R 2 S E R G D s G A = DTS = A D A e QD PIRIR R S s T T



Sorting the elements Swap the elements: B L

MOOLOEM B E P PEL IR B 2 S EE R G D s G A = DTS A D A e QD IPIRIR R S o T T



Sorting the elements Swap the elements: B L

MOCLOEM L E PR PR I B B2 S E R G D G A =D e e A D A e O D P RIR RS s T T



Sorting the elements Swap the elements: B L

ML RN L E B PEL B R 2 S E R G D G A =D e = A D A e O D P RIR RS e T T



Sorting the elements Swap the elements: B G

ML EM L E B PEL RG2S E R G D s LB A = DTS = A D A e QD IPIRIR R S o T T



Sorting the elements The current node is valid

ML EM L E PR RG2S EE R G D s B A =D e = A D A e QD P IRIR RS e T T



Sorting the elements Swap maximal with bottom right

B LM L TE R R S BGE EEY F2 B VR G D e B A e e P RS = A D A MO DR R R RS e T T



Sorting the elements Swap maximal with bottom right

b LM L E R S BGE EEY F2H P EE R E D e  E A e Pl T (RS = A e A MO DR R R RS e T



Sorting the elements Swap the elements: 6 M

M Lie L E PRI G B2 S E R G D B A =D e e A D A MO D P IRIR RS s T T



Sorting the elements The node is invalid

M Live L E BRI G B2 S E R G D s B A =D e e A S A MO D P IRIR RS T T



Sorting the elements Swap the elements: 6 |

ML L E e TR I RG2S EE R G D s B A =D e e A S A MO D P RIR RS s T



Sorting the elements Swap the elements: 6 |

ML L EPe PRI RG2S EE R G D B A =D e = A S A MO D P RIR RS e T



Sorting the elements Swap the elements: 6 H

ML L E PR PEL I RG B 2 S e EG D B A =D e = A D A MO D P RIR RS e T



Sorting the elements Swap the elements: 6 H

ML L ERRPEL I RG2S e B G D B A =D e = A S A MO D P RIR RS e T



Sorting the elements Swap the elements: 6 A

ML L E FRPEL I RG2S ARG D B A = DT e = e 2 A MO D P RIR RS e T



Sorting the elements The current node is valid

ML L EFRPEL I RG2S ARG D B A =D e = e e A MO D P IRIR RS e T



Sorting the elements Swap maximal with bottom right

AL E R TE CH TR G ERY 2 PG EA E G D e B A = = D e = e e MM O O P RR RS e



Sorting the elements The node is invalid

AL R TE TR G ERY 2 PG EA E G D e B A = = D e = e e MM OO P RR RS s



Sorting the elements Swap the elements: AL

LB PR FE | CHE R D G D 2 TS R PR G D e L B A e e B R S = e e M N D O R R TR RS ES T T



Sorting the elements The node is invalid

IS S B S = N O R S S A & S Sl = e o IR R S = S RS S o B < S - L B [ @ S B A - o= B < T



Sorting the elements Swap the elements: AL

L PR I A FE | LHE R L G D 2 TS R PR G D e L B A e e D R = e e M MO DR R TR RS ST T



Sorting the elements The node is invalid

L P I A FE | CHE VR D G D 2 TS R PR G D e D B A e e B R = e e TN N D O R R TR RS ES T T



Sorting the elements Swap the elements: A |

L P S S FE | RHE PR S G D 2 T R PR G D e R B A e e B B S = e e | TN N D O R R TR RS ES ET



Sorting the elements The node is invalid

L P S I EE | RHE PR S G D 2 T R PR G D e R B A e e B B S = e e | TN N D O R R TR RS ES ET



Sorting the elements Swap the elements: AD

IS S S R S = N - (B S8 < S S~ & S Sl = e e TR R S = S IR S o B < S S - L B [ @ S B A - o - B < T



Sorting the elements The current node is valid

L P S I EE | RHE PR D G D 2 T R PR G A e L B A e e B R S = e e | TN N D O R R TR RS ES E(T



Sorting the elements Swap maximal with bottom right

o | oy S SR E R SR SGE Y 2 A EAG VRN B A S S B A e B B S S e e P MR VL O O R B R RS s T T



Sorting the elements The node is invalid

o | s S S E R SR B RV 2 N A VRN B A S S B A e B B S O e e B MR N RO O R B R RS s T T



Sorting the elements Swap the elements: S L

L P | I EE | RHE R D G D 2 TS R PR G A L B A e = D R = e L PN N D O R R TR RS ES ET



Sorting the elements The node is invalid

L I I EE | CHE VR D G D 2 TS R PR G A e L B A e = D R = e PR PN N D O R R TR RS ES ET



Sorting the elements Swap the elements: 5 |

Ll b r e (FE | CHE R DG D 2 TS R PR G A L B A e = D = e L PN N D O R R TR RS ES T T



Sorting the elements Swap the elements: 5 |

L P r s (FE | CHE VR D G D 2 TS R PR G A e L B A e = D R = e PR PN N D O R R TR RS ES T T



Sorting the elements Swap the elements: 5 G

L e P s | FE | CHE VR D e D 2 TS R PR G A L B A e = D R = e L PN N D O R R TR RS ES T T



Sorting the elements Swap the elements: 5 G

L e I G FE | CHE VR B e D 2 TS R PR G A e L B A e e B B e = e PR PN N D O R R TR RS ES E(T



Sorting the elements Swap the elements: 5 B

LBl P & FE (CHE R DB D2 SR PE G AL e A s = D =8 LM MO DR R R RS ST T



Sorting the elements The current node is valid

LBl P & FE | CHE R DB D2 S R PE G A L e A s = D = e Ll N N D DR R TR RS ST T



Sorting the elements Swap maximal with bottom right

SIS R B T S o B L B I = S T2 & S S S e TR - R S o f B S S L @ S B S £l 2 o = < S P



Sorting the elements The node is invalid

A ER B T S o B L B I = S TS & S i S e TR | = R S o fE B S S L @ S & B S £l = & = i < S P



Sorting the elements Swap the elements: 6 |

I SR R = S SR o (S L (S = S TR~ & S S = e e TR B (S = = I S o B < S s B B [ @ S e I A = o< < T



Sorting the elements The node is invalid

(S ST R < S SR o W L (S = S TR~ & S S = e e SRS B (S = = R S o B < S s B B [ @ S e I A s o< < T



Sorting the elements Swap the elements: 6 G

(S o= A R T SR o W o L (S = S T~ & S S e e e TR B (S < = I S o B < S s B B [ @ S e I A = o< < T



Sorting the elements The node is invalid

(L R S SR o [ o L (S = S TR~ & S S = e e SRS S (S = = R S o B < T S s B B [ @ S e B A s o < T



Sorting the elements Swap the elements: 6 D

I RGP R E N RN R RS TES R B2 BCE B P RG PA B T e BAE e e B S R e B BV SN R RO R R TR PR S S P



Sorting the elements The node is invalid

(ST R T SR o [ o L T = S TS & S S i e e SRS S (S = = R S o B < T S s B B [ @ S e B A s o - < S T



Sorting the elements Swap the elements: 6 A

(ST R T SR o [ o L = S TR & 7 S i 2 e TR S S = = R S o B < T s B B [ @ S e T A 2 o B < S T



Sorting the elements The current node is valid

(ST R T SR o W o L = S TR & S S e & e S S (S = = S o B < T s B B [ @ S e T A s o < T



Sorting the elements Swap maximal with bottom right

=G D EH A B R 2GR ENG B 2 L e A= = 0 re L MM OO PR R RS ST T



Sorting the elements Swap maximal with bottom right

-G D E H A B R 2 G AR ENG B 2 L e A= = 0 re )l L MM OO PR R RS ST T



Sorting the elements Swap the elements: - |

PG e D R E S S R BA SES LE B2 BCE BRI PE N RGH RGP L e BA e e B S o B B S BV SN R RO R R R PR S S P



Sorting the elements The node is invalid

I PG e R R E S R R BAS SES E R2 BCE BRI PE N RGH RE | P L e BAS e e B S o e B BV SN R RO R R R BRSSP



Sorting the elements Swap the elements: - H

PG P B FE N el B B TBS D B2 BEE PR PE N RGH NG P L e PA e = D o e P BN N R SO R R TR PR S S T



Sorting the elements The node is invalid

ISR O BT SRS o L = S TR~ & 7 S = & e ST S (S = = S o B < T (S s B B [ @ S e T A s o= < T



Sorting the elements Swap the elements: - C

(L S BRI SR &7 o L = S TR S S = e e ST S (S = = S o B < T ([ s B B [ @ S e T A 2 o= < S T



Sorting the elements Swap the elements: - C

(ST R T SR 7 o L = S TR e S S e 2 e ST S S = = S o B < T (S s B B [ @ S e B A 2 e < S T



Sorting the elements Swap the elements: - 5

(ST R T SR 7 o L = S TR T S i 2 e S S (S = = S o B (S s B B [ @ S e B A 2 ol < S T



Sorting the elements The current node is valid

PG HELE B FE S R TR SA TB D 2 e PR PE G NE e L e A e = D e e B BN N RO O R R TR TR S S T



Sorting the elements Swap maximal with bottom right

=G B D E G DA B R 2 e A ENG e e L e A = = 0 e Tl MM O O PR R RS e T



Sorting the elements Swap maximal with bottom right

=G B D E G e A B R 2 e A ENG e e L e A = = 0 e T MM O O PR R RS e T



Sorting the elements Swap the elements: - H

oG = D E G H A B D2 3 A E |G 6 = 1ia A = = 0 e TE MM OO P RR RS s



Sorting the elements Swap the elements: - H

G = DD E G A B DY 2 Fe PAE G e e e A == PO e e e M M D O P PR R RS e T T



Sorting the elements Swap the elements: - H

G R DD E G A B DY 2 BeEAE G e e e A == 0 e e e M M O PR R R s s T T



Sorting the elements Swap the elements: - H

G B D E G = A B DY P2 ReEA E G e e el A == PO e e e M M D O P PR R RS s T T



Sorting the elements Swap the elements: - G

G B D E G s A B DY P2 RS EA E = e el A = = PO e e e M M D O P PR R R s s T T



Sorting the elements The current node is valid

G R D E G G A B DY 2 FeEAE s B e e A == PO e e e M M O P PR R RS e T T



Sorting the elements Swap maximal with bottom right

100G B D CE GG A TR B2 S R EN e e e PP A = R Bl S N RN O O PR R R RS e T



Sorting the elements Swap maximal with bottom right

1 G H D CE GG A B D2 S KR E e e e e A =B e Rl e M RN O O PR R R RS e T



Sorting the elements Swap the elements: 1 H

oG 1D E GG A B D2 s EAE = B 2 el A = = 0 e e e MM O O PR R RS s T T



Sorting the elements Swap the elements: 1 H

G T D E G G A B DY P2 FS EAE = B e el A == PO e e e M M O P PR R R s s T T



Sorting the elements Swap the elements: 1 G

G s D E G T A B DY 2 RS EAE 2 e e el A == 0 e e e M M O P PR R R s e T T



Sorting the elements The node is invalid

G G D E G T A B DY P2 RS EAE e B e el A == 0 RE e e e M M D O P PR R R s s T T



Sorting the elements Swap the elements: 1 E

G G DD E G R A B DY 2 FS EA L e B e el A == 0 EE e e e M M D O PR R RS s T T



Sorting the elements The current node is valid

G G DD E G E A B DY 2 FSEA L e e el A == PO e e e M M O O P R R R s s T T



Sorting the elements Swap maximal with bottom right

DN NG NG B E G RE PA FB PRV 2N R FAG  e BE R S R RAS e B B SR S R S S SR N RO SO R B BB S s T T



Sorting the elements The node is invalid

0 NG NG B E G RE PR FB PRV 2N R A T e Be R S Rl RS e B SR S R S R SR N RO SO R B B RS s T T



Sorting the elements Swap the elements: 0 G

G DG DE G IE A B D2 o A 6 B Pe A = B R el T MV RO O R R TR RS e T



Sorting the elements Swap the elements: 0 G

G 0G DE G IE A B D2 o A 6= P Pe A = B R e e MV O O R R TR RS e T



Sorting the elements Swap the elements: O E

G e G D QG IE A B D2 9 A 1= 6 = 1 a Al = = B8 b L L MM O P RR RS e T



Sorting the elements The node is invalid

G EG DO G E A B D2 e A 6 e A =B e e e MV OO PR R R RS e T



Sorting the elements Swap the elements: 0 D

G EG DB G IE A B D 2 9 A 1 6= e A =B R Tl T MV OO PR R R RS e T



Sorting the elements The node is invalid

G EG DY DG TE A B D 2 e A 6 B Pe A = B R e e T M PV RO O R R TR RS e T



Sorting the elements Swap the elements: 0 A

G EG D DG E A B R 2 9 A 1= 6= P Fe O = B Rl e MV RO O PR R R RS e T



Sorting the elements The current node is valid

G oENG DY DG PE A B A T2 o A 6 B Fa PO e = R R el S BV O O R R TR RS e T



Sorting the elements Swap maximal with bottom right

A VE G D B G R A B PR P2 L A L e B e i R R0E e B L SR S S R R AR RN RO O R BRI BR(ES  s  E



Sorting the elements Swap maximal with bottom right

= VE G D DG NE A B EAL P2 L A T e B e S R R0E e B L SRR S S R R AR SN RO O R BRI BR(S  s|  E



Sorting the elements Swap the elements: - G

G E = DD ECPE PA B A N2 e A e e B e PO e G B R e Rl S M BV O O R R TR RS e T



Sorting the elements Swap the elements: - G

G oE = DD EC PE PA B A N2 e A e e B P PO e G B R e Rl S N BV O O R R TR RS e T



Sorting the elements Swap the elements: - E

G E e DD EC - A B A 2 o A 6= B Pe 0 G B R e e e M PV O O PR R TR R S e T



Sorting the elements The node is invalid

G EE DY D EC - A TBCA N2 e A e 6 B e PO e G B R el T PV O O R R TR RS e T



Sorting the elements Swap the elements: - 1

G EE DY D EC T PA B A N2 e A= e e e B RO e PG R R e e S M BV O O ER R TR RS e T



Sorting the elements The current node is valid

G EE DY D EC M PA B A N2 e A = e e e Ban RO e G B R e Rl T N PV O O R R TR RS e T



Sorting the elements Swap maximal with bottom right

= VE N PE R RN G S RAS TB Y EAC B2 B A = e B R R R R0 SR B L BEE S ) R R AR SN RO SO R BRI BERES  s| E E



Sorting the elements The node is invalid

= VE PE D RN G S RAS TB Y EAC B2 R A = e B e R R RO GG B L SRR S S R R AR RN RO SO R BRI BER(ES | s| E E



Sorting the elements Swap the elements: - E

E = E D R ECH M FAN PR A 2 D A = e B e B B o R B PG DR SR S S B S SV N RO FON ER R TR RS e B T



Sorting the elements The node is invalid

E = e FDE R ECH M FAN PR EA 2 D A = e B e B B o R B PG DR R S S B S SV IV RO FON ER R R RS e B T



Sorting the elements Swap the elements: - D

E R R B R RGO B A FB BAC R B LA e e B e B B R B GG R SR S S S SR SV IV RO BON ER R R RS e B



Sorting the elements Swap the elements: - D

E D RS B R RGO B A FE BRGNS B A e e B e B B BRI B GG R R S S S SR SV IV RO BON ER R R S e B



Sorting the elements Swap the elements: - B

E D EE P B ECH Y RA = BAC R ED A  Ee Be e B B R RGN GG D R S S B SR SV IV RO FON ER R R RS e e



Sorting the elements Swap the elements: - B

E D EE FB R ECH Y A B BAC R2 ED A = e B e B B R RGN GG D R S S B SR SV IV RO FON ER R R RS e B



Sorting the elements Swap the elements: - 5

E DI EE FB B ECH N FA PS EA 2 D A = e B e e e BRI B R DR SR S e B S SV IV RO FON ER R TR RS e B T



Sorting the elements The current node is valid

E DIE B B ECH T PAL S PR 2 D A = e e e R B PG R R e B S SV PN RO RO ER R TR RS e T



Sorting the elements Swap maximal with bottom right

O BN e PB RN G I RA B PR P2 | A = e e e e e TR G BGPTSR R R S R SR N O SO R B BB S Ss|  T



Sorting the elements Swap maximal with bottom right

O BN RS PB TN G M RA B PR P2 | A = e e e e e TR G BIGS | L SR R S S R SR N RO SO R B B RS s T T



Sorting the elements Swap the elements: O E

E D B B G  A S A 2 D A = e e e B G PG R R e B S SV BN RO RO ER R TR RS e T



Sorting the elements The node is invalid

E DR TB B G A S EA 2 D A= e B e e e R G G R R S e B S SV EINE RO FON ER R TR RS e B T



Sorting the elements Swap the elements: 0 C

E DS T8 B PO A S AR 2 D A = e e e B G G R R S e B S SV PN RO RO ER R TR RS e T



Sorting the elements Swap the elements: 0 C

E D EC PB B RO A S AR 2 D A = e e e B G PG R R e B S SV PN RO RO ER R TR RS e T



Sorting the elements Swap the elements: 0 A

E DG B B A A S A2 e = e e e R G G R R e B S SV PN RO RO ER R TR RS e T



Sorting the elements The current node is valid

E DR TB B EA N AL S PR 2 e D = e B e e R G PG R R S e B S SV EINE RO FON ER R TR RS e B T



Sorting the elements Swap maximal with bottom right

= LR NG B RN BAL SRR B BAC B2 R B - e e R S B R S GG B L R S S I S SR SV RO RO ER B R B S S B



Sorting the elements The node is invalid

= LR NG BB RN BA SRR B BAC B2 R B - e BE S R R B R S GG B L R S S I S SR SN RO RO ER B R B RS S N



Sorting the elements Swap the elements: - D

B G B TR A A S EAL R2 Ba B - e B e S R DR G FGE L BEE E E E E SE N EO O ER BRI S  e  T



Sorting the elements Swap the elements: - D

B G B PR BAL I BAS SD EARL B2 Ba B - e B e i R RE S VG FIGE L B I S R SR N RO O R B R R S s T T



Sorting the elements Swap the elements: - D

B PR NG B e DAL I B S EAL R2 Ba B = e B e R DR G FGE ) L REE E E E EE SME N EO O ER BRI RS s T T



Sorting the elements The node is invalid

B0 D RS B e DAL T BA ES EARL R 2 Ba B - e B e i R RE S G BIGE Y FEL B R S R SR N RO O R BRI R RS s T T



Sorting the elements Swap the elements: - A

B D NG B A AL I A D B B2 B RO - e B e S R RE S G FIGE L R I S L SR N RO O R BRI RS s T T



Sorting the elements The current node is valid

B D NG B R A I A S B B2 B B e B e S R DR G FGE L REE E E EE EE SME N EO D R BRI RS s T T



Sorting the elements Swap maximal with bottom right

1D G B VR PR P PA Fe g S D = e R e EEY BRI | B GG PR SR S e B SR SR B RO FON ER R R RS e B T



Sorting the elements The node is invalid

1 DG B VR PA N PAFS 2 S 0 = e e e EE BRI | B G PR BRI e B SR SR BN RO FOH ER R TR RS e B T



Sorting the elements Swap the elements: 1 D

DG B AR A A D = 2 Fe O = e e DI TE R G PG L BRI S e R M M O O R R R R s e T



Sorting the elements The node is invalid

BO G B AR A A D P 2 Ba B0 e e e DA TE R G PG L BRI R M M O O R PR R R s e T T



Sorting the elements Swap the elements: 1 B

B NG T R A A D = 2 Fe 0= e e e DI e R G PG L BRI S e R M M O O P PR R R s e T T



Sorting the elements The node is invalid

BB G T R A A D P 2 Be B e e e D RE R G PG L BRI S L R M M O O R BRI R s e T T



Sorting the elements Swap the elements: 1 A

B PE NG BA R A T S S B B2 B B - e B e DA RE DR G FGE L BRI S R R M M O O R B R R s s T T



Sorting the elements The node is invalid

BB NG A R A T S B B2 Ba B - e e e DA e TR G FG L BRI S R R M M O O R BRI R s e T



Sorting the elements Swap the elements: 1 6

BB NG A R A e B = P2 fe 0= e T e DA NE R G PG L BRI S e R M M O O R R R R s s T T



Sorting the elements The current node is valid

BB NG A R A TS D P 2 Ba B = e e DA R DR G FGE L BEE E E E EE ME ME O O R PR R RS e T T



Sorting the elements Swap maximal with bottom right

= VBN G FA VA A S R S B B2 R B = e e SR D R R G B L B S ) R R AR RN RO O R B BR(BR(ES | s| E E



Sorting the elements Swap maximal with bottom right

= VBN G FA VA A S R S B B2 B B = e T SR D B R G B L B S ) R R AR RN RO O R B FR(BR(ES | S | E E



Sorting the elements Swap the elements: - C

B A R A T [6 (e =2 9 0O == 0 DRy e e NG G B e b Tl T MM OO PR RR RS e T



Sorting the elements The node is invalid

B A R AT 6 8 =2 9 0O == DRy e e NG G B E L Tl e MM OO PR RR RS e T



Sorting the elements Swap the elements: - A

CoBA A R = 16 e =2 9 0O == 0D ER e E NG G B e e T MM OO PR RR RS e T



Sorting the elements The node is invalid

CoBA AR =16 8 =2 9 0O == 0D e B NG G B B bl L MM OO R RR RS e T



Sorting the elements Swap the elements: - 5

B A A A D |16 9 = 2 = 0O = = 0 DpEeEE GG e e b L L MIMQ IO PIRR R S o T T



Sorting the elements The current node is valid

CoB A AR 2|16 9| = 2 = 0 = = 0 DpEeE B NG G B e b bl L MM O P RR RS e T T



Sorting the elements Swap maximal with bottom right

1B A A R P P e Fe = 2 e O e e C PR EEY BE S PE | RG] G PR BRI e B S SR BN RO FON ER R TR RS e B T



Sorting the elements The node is invalid

1 B A A K Fa e Fe = 2 e D e e TE PR EEY RE S PE | RGH G PR TR e B S SN BN RO RO ER R TR RS e T



Sorting the elements Swap the elements: 1 B

B LA A R P 6 (e =2 b D e e B R B BE N | RGP B R e B S SV PN RO RO ER R TR RS e T



Sorting the elements The node is invalid

B PA FA DR P e (e = 2 B B e e B R B B IS | RGN G DL TR S e B S SV IV RO FOH ER R R RS e B T



Sorting the elements Swap the elements: 1 A

B A A N R P e (e =2 B O e e B R B BE NS | RGN G R R S e B S SV ENE RO RO ER R TR RS e B T



Sorting the elements The node is invalid

B A TA BT DR P e e = g B B e e B R B B IS | G PG DR R S e B S SV IV RO FOH ER R R RS e e T



Sorting the elements Swap the elements: 1 6

B A PA R DA P T e P g e RO e e B R B B IS | RGN GG D R S S B SR SV IV RO BON ER R R RS e e



Sorting the elements The current node is valid

B A TA LD DA P T e = 2 e O e e B R B B IS | RGN PG D SR S e B S SV N RO FOH ER R TR RS e B T



Sorting the elements Swap maximal with bottom right

2 DAL A D VA S I I B B B2 B B - BB NG SR L B R S GG B L S S S I R VAR RN RO SO R BRI BER(ES  S| E E



Sorting the elements The node is invalid

= DAL A BB VA S I I B B B2 B B B BB NG SR L B R S GG B L R S ) I S SR SN RO RO R B BR | BERES  S|  E



Sorting the elements Swap the elements: - A

A=A DE AR S S S B B2 B B0 - EB G R DA R DR G FG L BRI S R M M O O R B R R s e T T



Sorting the elements Swap the elements: - A

A=A D A S RS B B2 B B0 - B G TR DA RE S DR G FG L BRI S R M M O O P BRI R s e T T



Sorting the elements Swap the elements: - A

AR A D = e I S B B2 Ba RO ) BB G EE DA R DR G FGE ) L BRI S R R M N RO O R BRI RS s T



Sorting the elements Swap the elements: - A

ACA A D= e I S B B2 B BN S BB MG RS VDA R DR G BIGE L R I S I SR N RO O R BRI RS s T T



Sorting the elements Swap the elements: - 2

ACAL A D 2 S I IS RS B B B BN ) BB MG FEE VDA R RE S VG FIGE L B R S R SR N RO O R BRI RS s T



Sorting the elements The current node is valid

ACA A D 2 3 I IS S B B Ba BN ) BB SCE FEE VD R RE S G FIGE Y L REE E E EE EE SE N EO O ER BRI S  s  T



Sorting the elements Swap maximal with bottom right

DAL A BE B2 R I S B B B e B A BB NG SR LD B R S GG B B R S S I S SR SN RO RO ER B BER| BER ES  S  E



Sorting the elements The node is invalid

= DA A BE B2 RS I S B B B B B A BB NG SR LD B R S GG B B R S S I S SR RV RO RO ER BRGNS S B



Sorting the elements Swap the elements: - A

A= A D2 e I I RS B B B RO A B MG FEE VD B RE S G BIGE ) FEL BT R S R SR SN RO O B BRI R RS s T



Sorting the elements The node is invalid

A=A D2 e I S RS B B B RO A B MG FEE VD R RE S G FIGE L BT R S R SR SV RO O R B R R S s T



Sorting the elements Swap the elements: - 6

A A= 2 S I IS S B B Ba BN A PBS MG RN VD R RE S G BIGS ) L BT R S I SR N RO O R BRI RS s T T



Sorting the elements Swap the elements: - 6

AT A= 2 e I IS S B B B BN A BB MG FEE VDA R RE S G FIG L BT R S R SR SV RO O R B R RS s T T



Sorting the elements Swap the elements: - 5

A A D2 e I I e B B B RO A B MG RS MDA B RE S G FICS ) BT BT R S S S SR SN R RO ER B R BB S s o



Sorting the elements The current node is valid

AT A D2 e I IS R B e B BN A PBS MG FEE VD R RE S VG FIGE L BT R S B SR SN RO O ER BRI R R S s T



Sorting the elements Swap maximal with bottom right

DN NeN FAT LD B2 D I I B B B A SR DB S R Y B R S GGE B | BT R S S I R SR RN O SRR B B R S S| N



Sorting the elements Swap maximal with bottom right

O e AT LD B2 R I B B B R A PR DB S R Y B R S GG B | L R SR S S R SR SN O SRR B B R S S| T



Sorting the elements Swap the elements: 0 A

A e 0o 2 e I R B e B BAC AL PB MG R D R R G BIGS ) FEL BT I S R SR SV RO O R B R RS s T



Sorting the elements The node is invalid

AE 0o 2 e I I R B e B BAC AL PB MG FEE D R R NG FIC ) L BT R S B SR SV RO O ER B R R S s T



Sorting the elements Swap the elements: 0 5

AT a9 2 0 e IS R B B B BAC A PBS MG FEE VD R DR S G FIGE Y L B R S B SR N RO O R BRI RS s T



Sorting the elements The current node is valid

ANE o9 2 DS S R B B B A AL P G RN DA R DR G BIGE ) L REE E E EE EE SME N EO O ER BRI s  s  T



Sorting the elements Swap maximal with bottom right

= B e e L2 DO I I B B B BAG A EAC R B G SR L B R S GG B BT R S S I S SR RN RO RO ER B R B RS S| B



Sorting the elements The node is invalid

= NB o Fa B2 DO B I B B B A ARG PR DB NG RN L B R S GG B B R S S I S SR RV RO RO ER B R B S S B



Sorting the elements Swap the elements: - 6

bl = 9 2 2 0N EE T B B B A EAG EAC VB S T DY R TR G FIG | FEL| SR R R I R SR N RO O R B B RS s T T



Sorting the elements The node is invalid

B =0 2 2 0N e B B B A EAG PR DB S N DY R R G FIGS | L R R R R R SR N O SO R B B RS s T T



Sorting the elements Swap the elements: - 5

ST R R B R R e S S = e B R I S = L (S o S B (RS @ S B S © e B = < P



Sorting the elements The node is invalid

B P e - 2 DO B B B A A A DB S R Y B R S G B L R S R S R SR SN O SO R B B R S S| T



Sorting the elements Swap the elements: - 1

B e T2 PO L B B B A A PR DB S R Y B R S G B | L R R S S R SR SN O SO B B B R RS | T T



Sorting the elements The current node is valid

B e I R PO R B B B A A A DB S N DY e R G BGPTSR R R S R SR N O SO R B BB S s T T



Sorting the elements Swap maximal with bottom right

= e P I 2 RO B R B e A A BAC R B G RN L B R S GG B L R S S I I SR SV RO RO ER B R B RS S| B



Sorting the elements The node is invalid

= o e I 2 RO B B B RE Y A A BAC R NG RN LD B R S GG B B R S S I S SR RN RO RO ER B | B S S B



Sorting the elements Swap the elements: - 5

< R B R S S e S S S e B R I S = (S o S B (SIS e S S E e B - T R



Sorting the elements Swap the elements: - 5

9| N=0 F o HE R0 RO S R B B RE | FA A PG DB S R MY B R S G FIGS | BT R R R S R SR SN O SRR B B R S S| T T



Sorting the elements Swap the elements: - 2

< I = R e B R s S e S S 2 e B R R S = L (S o S B (S @ S B S © e B - < e



Sorting the elements The current node is valid

< A = TR @ B R S S e S S 2 e B R I S = (S o S B (S @ S B S £ e B - < P



Sorting the elements Swap maximal with bottom right

= R P e I e RO B B B RE A A BAL B G RN LD B R S GG B L R S S I R SR SN RO SO R B BER | BERES | s E E



Sorting the elements Swap maximal with bottom right

= N P I R RO B B B RE A A BAC R B G RN LD B R S GG B L R S S I S SR RN RO SO ER B R B S S| B



Sorting the elements Swap the elements: - 5

o N e e e SO I e B B RE | RA EAG R DB S R Y B R S GG B | L R R R S R SR SN O SRR B B B S S| T T



Sorting the elements Swap the elements: - 5

9| N e e e SO e B B RE | RA AN RACH DB S R Y B R S BGGE FIGS | L R SR S S R SR SN O SRR B B R S S| T T



Sorting the elements Swap the elements: - 1

< I R TR e B e e s S e S S S e B R I S = (S o S B (SIS @ S B S E e B - T R



Sorting the elements The current node is valid

9| N L e e SO R B B RE | RA A PG DB S R MY B R S GG FIGS | BT R SR S S R SR SN RO SRR B B R S | N



Sorting the elements Swap maximal with bottom right

= R L T R RO e RS R RE A A A LB G RN D e R GG B L R S ) I R AR RN RO O R BRI BER(ES  s|  E



Sorting the elements The node is invalid

= D L T R RO e R R RE A A A B G RN LD e R S GG B L SR S S I R SR RN RO SO R B FER | BER ES  S| E E



Sorting the elements Swap the elements: - 2

2| =0 1 R e RO R B R PE | A AN R DB NS SR Y B I S BGGE B | L R SR S S R SR RN O SRR B B R S | N



Sorting the elements The node is invalid

Z | =0 1 e e SO R B R RE | A A PR DB S R Y B R S BGGE FIGS | L R R S S R SR RN O SRR B B R S S| N



Sorting the elements Swap the elements: - 1

Z2 | L Ee B RO R B R RE | A A PR DB S R MY B I S BGE B | L R S S S R SR SN O SRR B B R S | T



Sorting the elements The current node is valid

Z | 18 L R B SO IR B B R RE | FAS AN RACY B NE S R B R S GGE B | BT R SR S I R SR RN O SRR B B R S S| N



Sorting the elements Swap maximal with bottom right

= T L e Bl RO e 2 R R e PA PR A B G RN D e R G FIG ) L BRI R AR RN RO O R B FR(BER(ES  s|  E



Sorting the elements The node is invalid

= T L e B RO e 2 S R Pe A BAC A LB G RN D e R G B L R S ) I R AR RN RO SO R B FR | BER(ES  s|  E



Sorting the elements Swap the elements: - 1

1= e R e B0 B B2 B S e N BA LR PR B NG R EE BRSNS | RGN PR SR S S R SR SR B RO BON ER R R S e B ST



Sorting the elements The current node is valid

18 = W R e RO B B2 B S | N BRSSP BB NG R B B RIS | BGE GE | PR SR S S R SR SV B RO BON R R R R S e B T



Sorting the elements Swap maximal with bottom right

= ) L e B RO S B2 R R RE A A AL B G RN LD R R S GG B L B S S I R AR RN RO RO R BRI BERES  S| E E



Sorting the elements Swap maximal with bottom right

= ) O e B SO S B2 R R RE A A BAC R B G RN LD B R S GG B B R S S I S SR SN RO RO ER B R B S S| B



Sorting the elements Swap the elements: - 1

= e BN B2 E S e N A SR EAC B NG R BRI BRSNS | RGP PR SR S S R SR SV B RO BON R R R e S e B ST



Sorting the elements The node is invalid

18 = e R e RO B B2 B o e R BRSBTS NG R B B RIS | BGE GE | REL SRR S S R SR SV B RO BON R R R e S e B



Sorting the elements Swap the elements: - 0

18 = R B e B B B2 B | e A SR BT BB N R B B RIS | BGE PGE | RELS BRI S R SR SV B RO BON R SR R e S e B



Sorting the elements The current node is valid

18 = B0 R e B O B2 B S | e A R A B TG R EEY BRSNS | RGN PR BRI e B SR SR BN RO FON ER R R S e B T



Sorting the elements Swap maximal with bottom right

= ) R e B R 2 R PE A BAC AL LB G RN D e R G FIGE ) L BRI I R AR SN RO O R BRI BER(ES | e| E E



Sorting the elements Swap maximal with bottom right

= = R e B R 2 R R Re A A A LB G RN D e R S G B L R S S I R AR RN RO O R B FR | BER(ES  e|  E



Sorting the elements Swap the elements: - 0

O = b e B I 2 R R PE | A A R DB S R Y B I S BGGE B | L R R S S R VAR SN O SRR B B B S | N



Sorting the elements The current node is valid

DN S e B B S I N2 B R PE | A FAG RAC) B NS R R B I S BGGE B | L R R R S R SR SN O SRR B B R S | T T



Sorting the elements Swap maximal with bottom right

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements The current node is valid

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements Swap maximal with bottom right

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements The current node is valid

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements Swap maximal with bottom right

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements The current node is valid

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements Swap maximal with bottom right

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements The current node is valid

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements Swap maximal with bottom right

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



Sorting the elements The current node is valid

= e e RO S B B2 R R RE A A AL LB G RN LD R R S G B L R S ) I S AR RN RO O R BRI BR(ES  s|  E



The input has been sorted!!!



